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   This question paper has ONE printed page and THREE parts
PART A:     Answer any TEN of the following questions                             10x2=20  

1. Explain Veblen’s view on institutions. 

2. What are the different ways by which institutions evolve?
3. How do neoclassical thinkers view ‘individuals’?
4.  State the differences between methodological individualism and holism.
5.  Why is the concept of opportunistic behavior important in institutional economics?

6. What is the difference between moral hazard and adverse selection?

7. Give the meaning of ‘rational choice’. How is it different from path dependency? 

8. Who are ‘free riders’ and how do they pose problems in the efficient working of markets?

9. State the different types of property rights. 
10. What are the different types of transaction cost?

11.  What are the different types of labour market signaling?

12. Explain how the government program on ‘skilling India’ is an outcome of market failure.

PART B: Answer any TWO of the following questions                                       2X10=20
13. Explain cooperative and non-cooperative game with the help of an example each. Why do these games result in the setting up of institutions? Give an example each. 
14. Give solutions to Akerlof’s ‘market for lemons’ problems emerging in the higher education sector.
15. Write a critical note on Demetz’s property rights.

PART C   : Answer any TWO of the following questions                                    2x15=30

16. Critically evaluate how NIE is a departure from neo classical economics and discuss how institutional economics views the problem of market failure.
17. Discuss the problem of corruption from a Principal- Agent perspective. What are the economic implications of corruption on production, consumption and welfare? 
18. Explain the problem of information asymmetry. How are solutions provided to tourists in the current tourism market scenario? What has the government done to reduce asymmetrical information in the case of taxi aggregators?
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